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TkskR RASKR TiskR RASKR

" % 2 $KIB D] $KIB TSRS

[ mismekity SRR AR SRR
EREKE EREKE ERAKE EREKE

B K F A =] SHM7FE4B15H | BH7F58208 | BM7F6H24H | HHM7THE7H22H

S i # B & SRASEKIS ALK TALEKS ALK

2 B (T ) - kK B (T ) 9.4 [14.2 243 [19.0 23.7 [26.7] 30.6 [28.4 | [ | [ | [ | [

x & FA/%8 w2 Wi | wonon | PEESRE | munen | mowm e | msem B |mess | | | | | | | |

B B % HEE w R &R w R &R w R &R w R &R w R &R w R &R

=G 100 wmlE | O 0 0 0

| 2| KBmE BESNBRVCE | TR TRt TR TRt
EIELEEN 0.003  mo/uiF[0.0003 & | 0.0003 ## | 0.0003 #& |0.0003 #m
| 4|7kER 0.0005  mo/LiT | - - 0.00005 ## |-

5leLy 0.01 mo/LtF| 0.001  #® | 0.001  #s | 0.001 _ #a |0.001 &
68 0.01 mo/lF[0.001 A [0.001  &# [0.001 & |0.001 s
—7|E§ 0.01 mo/LtF| 0.001  #® | 0.001  #s | 0.001 _ #a |0.001 &
8|AoOL 0.02 mo/lF|0.002 A [0.002  &# [0.002 & |0.002 s
| | TR 0.04 ma/LLLF | - - 0.004  #m |-
V0[P A VRGBT 0.01 ma/UAT | - - 0.001 Hi -

1| RS ER R R U AR AR R SR 10 mg/LLLF | - - 0.1 il -

BERES 0.8 ma/LLlT | - B 0.08 wE |-

13[1F5% 1 me/LLF [ 0.1 il 0.1 Rl 0.1 il 0.1 i
14| PE(bRER 0.002  mo/LiT| - - 0.0002 ## |-
15(1,4-IAFH 0.05 ma/UAT | - - 0.005 Hi -

16]92-1,2-Y YOOIV YR U5UA-1,2- J00IFLY 0.04 mo/LLLF | - - 0.004 |-

Jo00X5Y 0.02 ma/LLLF | - - 0.002 s |-
18|7h5000IF LY 0.01 mo/LLLF | - - 0.001 |-
19|FJoO0IFLY 0.01 ma/LLLF | - - 0.001  #m |-

X 20(RUEY 0.01 mo/LLLT | - - 0.001 Fil -
| 21| B3R 0.6 mo/LLLF | - - 0.06 e -
22| VOOFFEE 0.02 ma/UAT | - - 0.002 Hi -

& [lpoomva 0.06  moisr| - B 0.011 e

JHOOREE 0.03 mo/LLLF | - - 0.003 |-

£ [25|y70EI00X5Y 0.1 ma/LLLF | - - 0.01 ®8 |-
| 26| RFEL 0.01 mo/LLIF | - - 0.001 i -

s [27[BRINOXS Y 0.1 ma/LLLF | - - 0.01 -
28| MO OOFE 0.03 ma/UAT | - - 0.006 * |-

15 [29[FOEYOOOXEY 0.03 ma/LLLF | - - 0.003 s |-
30| JOERIVA 0.09 ma/UAT | - - 0.009 Hi -

g Bilvsrirer 0.08 ma/LLLF | - - 0.008 s |-
BEN 1 mo/LutF | 0.1 4| 0.1 4| 0.1 4| 0.1 )
33[PIVE=TIL 0.2 mo/LtF | 0.02 0.01 0.02 0.03 *
[34]8% 0.3 m/LIT [ 0.03 % | 0.03 ## | 0.03 % | 0.03 ##
35(30 1 mg/LLF | 0.1 HiE 0.1 Fili 0.1 HiE 0.1 Rl
36[FhUIL 200 mo/LT | 3.0 2.5 2.3 2.3
B KPP 0.05 mo/LtF| 0.005  #® | 0.005 ## | 0.005 _#a | 0.005 ##
3s[iR(L 14~ 200 mo/LT | 4.2 3.4 2.9 2.9
39|EHE (Ca,Mo%) 300 mo/LtF | 32.4 * [19.1 20.3 18.8
40| FHFTRERY) 500 ma/LUT | - - 46 -
4| AV REEEA 0.2 mg/LLLF | - - 0.02 il -
42|IIARIY 0.00001 mo/LuF| - - - -
43| 2-XF AV RIVRA—IL 0.00001 _mo/LitF | - - - -
44| JEA A REDEEH] 0.02 ma/LUT | - - 0.005 il -
45| 2x/—VER 0.005 ma/LAT | - - 0.0005 = -
| 46| BHME(TOC) 3 mo/LIF| 0.3 i 0.3 F 0.3 ol 0.4 *
47|pHfE 5.80F 8.6LF [ 7.5 7.4 7.4 7.4
48|k RBETRLCE | BERQL BEQL REELL REBL
49|85 BETHRICE | BEBL RELBL RELL RELBL
| 50| B SELUT 1 B 1 i 1 B 1 i
51| 2T 0.1 il 0.1 *i 0.1 il 0.1 #
52|M7ILHUE mg/L | 24.7 15.7 15.2 15.6

EREEE uS/cm | 83 56 54 55

7 [s4[ERIER 0.1 mo/LLE | 0.30 0.36 0.20 0.28

D | 55| KESEE BHETNBVCE | - - - -

1t [se|matEstam BETnaLCE |- - - -

DVTRRRIT DL BHINRWIE | - - - -
58| SPNIT BTnene |- - - -
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